EDEFREITO>ESDESVDEIL

20N E

7 78 719 710 711 712 713
> 1| 0l=] 1= 0=] ol=] 0l=] 1] 1[A]
5 O 'ft% |ﬂ£ KR B 4T A X X X A O
5 +0.2kg +0.5kg + Okg WAT O 7= 0 16 | 14T @ 7= 1K | 1747 @ 7= o 1k
(E%%y/ 1 8) (VR Y TV O TR
5.0 714 715 7/16 717 718 719 7/20
' 5EE 5EE 108E 108E 108E 108E 1088
]| (]| (]| 1[H] 1[8] 1[H] e
X X X O O JAN X
4.0 W4T O 72 8 1 | 14T 0 7= b 1 | +1.2ke —0.5ke + Oke +0,1kg +Okg
HA HAY EERIET IR B 4T AR B A4T IR B 4T R B AT
7/21 7122 7/23 7/24 7125 7/26 71217
3.0 108& 108& 108E 105 105 105 105
' 1[H] 1[=] (| 1[5] 1[H] 1[H] 1/7]
O O X A O O O
—0.3kg —0.1kg JRAT D 1= & I | 74T D 7= O K | = 0kg —0.4kg —0.2kg
2.0 il R = BT phaREr | B | aRET
7/28 7/29 7/30 7/31 8/1 8/2 8/3
105€ 105€ 105€ 108% 10%% 11[9] 117
1.0 1[H] 1[5] 1[H] 1[7] 1[7] O A
: O O O O O +0,2kg HER L
+0kg —0.2g +0kg —0.3kg +0kg TR R AF A PRBRA AR
R B 4T R B A4F AR B 4T IR B4 AR B 4T
0.0 8/4 8/2 8/3 8/4 8/5
T 2 Y 1= Ol=] 1[=] 1[=] 1[=]
iFAEE T ARFR1& A * A A 0
. +0.4kg + Okg FhHE L —0.2kg —0.1kg
(6%1/ 1H ) IR B AT IR B 4f IR B4t IR B AT R B4t

XIREE—>O : 9230 A I2ZOURVDHE % Highore
(BOZ1blE. YA MEFTTRIRIBOZ{LERES U TLS R EEENHDET . )

—BOEDEZA RN EOSEELTH>EDEADIEHN



(fREE kg) R A ES 44
2 |
! :
0
4 1215161718 gm0 =  (B)
9 :
-3 |
I
-4 I
5 :
P I
I
-7 I
g !
-9 |
—— 508584 (¥¥4iiEam) 5054 (BHEm+tittrEm)

HHIEmOD A TRFEDRZLRIRSNRAVD, hDEmEBHISOEIILICLO>THENRBIUR.



